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| What do | need to be able

J 7= CONSTRUCTING N 20/3D.

{o do?
By the end of this unit uou should be able to:
e Draw and measure angles

|
|
|
|
|
I Construct scae dranings

: * Bind locus of distance from ports, Ines, two
|

|

|

|

|

Protractor: pece of equipment used to measure and draw anges
Locus:
Equidistant: the same distance
Discorectangk: (a stadium)
Perpendicular: Ines that meet at 90°

set of ponts with a common property

— arectange with semi circles at either end

Ines
o Construct perpendculars from ponts, Ines, Ore: parl of a curve
Nges Bisector: a Ine that divides something into two equal parts
* ldentify congruerice i th
Congruent: the same. shape and size
= ldentify congruent tnangkes
I —— e
_____________ I F"___.__"_-"‘_____'_'l[___"'__"'"__—'"_"“_____'I
| Draw and measwre angles 11 Scale drawings © | Locus of a distance from a point |
I, Moke a mark ol 35° wtn apercl | | [ I
| 10w 30 Ord jon to the angle port e a | I 0 peture of g car s drawn with a scate of 130 I Qllpons are equdstant (the same |
g ] / | | | I distance) from the fixed pont i the |
: 2 ‘\,% | I “ < ; midde . ‘« :
i For every lem on my mage 1s s
:;’! o N \ : | 30cm (ngreal Ife e I : =N |
[ = 2 | | 1 |
I %— | |
| / rce | : The car mage s ﬂ I Equpment needed }
| Moke sure the cross s at the end | | [0cm mage. Real Ife g (terpontenihescomes The radus i the dslance |
| of the Ine (where you want the | m 30cm T\ < L It can ordy moke & quarter from the fixed pont
‘) | | = = I cicle |
| o9 1 =< \pl0cm  300cm | R I
T G IS I S S i o e S s S o et —_——_ -
__________________ - r__'_"_______'___'l
! Locus of a distance from a straight Ine | :|Oor1strwtaperper1doubrfrorn |
I |
I Ol points are l | | a_m Poxnt |
I / equdstant (the I Obo g perverdalor bsester | | | Lne |
I I e dsloree) } Because If the ponts are | | 3 4 / |
| from ine Joned, this riew Ine tersects | | | " o |
| | ot ) || gt e
T Eapmenl needed | 2
| The ends of the ine are Tre bne s straghl 0 g er | | I | vort to place. the compass / :
| foxed ponts =g i used for the straght tnes | | Ik e e |
| & paralel to your ongnal lre. |1 < l ep the compass the. same
& ? | dstarce and now use your |
':::::::::::::::::::‘,: Jon'te viersectors a1 | e ports to make rew |
f e
| Locus of a distance from two Ines Ly eep e compass tre sane. 1 | vieorvedingaes l
| | | : Ol ponts on ths bne are | | |
| (ko an anale bisector | | el ol o equdsstant from both ponts | | Connectmg the ares makes the bisector|
| Ths cuts the ande n haf |t_eﬁh%'nt:::::::::::::| |
| From the ande verlex dran tro arcs thal | Ioorwuent ﬁo“feg | I [ 1P s pont on (fe ne the sleps are the same J |
| % cut the Ires forming the ange |: e e et e e s aettemnd
| I - [
I Feep Lhe compass the same size and use : I Congruent figures are 1dentical n [ Ca\mt tnms |
| 7 w1 meompe - leyembe || (e |
| 2 | | reflections or rotations of edach 11 e aieaee [
| r__F__,,_,:-- Jon the vertex 1o the intersection | | F other | | Qllthree sdes on the trange are the same size |
e g 1 ks | i
r ______________ Ll;ﬂ pogfanniy I I I I W a;:]g[:; Sld:’téngdk CC[ the | I
0 anges an . connecting them are equal n
: COHStﬂX}tm Tmhs sops > e | { Congruent snapes are. dentical — all corresponding sides [ n otrlofl@k;s o . |
S, Ongk, l and anges are the Same. size, I — |
l I | Sde-ong |
: ‘——" l : ace-riL | | Two ades and the angle in-belween them are equol n |
Sk, Onge, Sde I SEm S [ two ranges (it vl ako mean the thed sde 1 the same. |
I ; | \
] : A A% — . [ : size on both shapes) |
LY S cro I
| Sce.See. Sde | I l[ Right' angle-hypotenuse-side J {
. ' Because al the anges are the same ond OC-KM BC-LM
| ea— I tranges OBC and ELM are. congruent | | The trandes both have. a rght ange, the I
| E ] I hypotenuse and one. side are the same [
e e e e e o —— — —— e e s ———— — —— — — — ——— M o e e e — e — — — — — —



YEAR 7 /— REPRESENTATIONS.

What do | need to be able
to do?

|
[
I
[
I By the end of this unit you should be able to:
|
1
I
I
[
|

* Find singe event probabilty

*  Find relatwe frequency

*  bind expected outcomes

*  Fnd ndependert events

= Use diagrams to work out probabiities

Probabilty: the. chance that something wil happen
Relative Frequency: how often something happers dvided by the outcomes

Independert: an event that 's not effected by any other events

Charce: the lkelhood of a particular outcome

Event: the outcome of a probabilty — a set of possible outcomes

Biased: i bult in error that makes all valves wrong by a certain amount

B

‘ Probabilty s alviays & vaise betvieen 0 and | ]

0@

o e
: The probabilty scale

= | |
I i 1 I 1
| Impossble Even chance tertan ||
| Oor0” 05,3 or 507 lor 1007 I|
|
|

The probabity of getiing a bue ball s E

+The probabiity of NOT getling a bhe ball is g

el I Smle event probabiity

Frequency of event

Total number of outcomes

Remember to calculate or ertify the overal

I
|
|
I O O L J I I
| The more lkely an evert the further up the probabity | | o The. sum of the probabites & 1 [ number of outcomesl
| WIII be in comparison to another event | I
| X = (Il vl have a probabmtg choser to | | :l Colowr Frequency Relative
| o 6 / I | The lable shows the probabilly of selecting a type of chocolate | | Frmw
| \© 1l : |
| 1 T 1 l I Dark Milk White [ ] Green B 03
| There are ; { J 015 035 [
prk and 2 There are. 5 possibe outcomes l : [ Yelow 12 06
| elow bals, so So 5 intervas on this scae, edch || Plle chocobite) - 1- 01503 I
| they have the interval vae 15 % I L I Ble 2 0l
ety R I
A e Tl 20
| Ex ted outcomes Expected outcomes are estmations It 1s i long term average rather than a I e
| Il
| predction I Relatwe frequency can be used to find expected
| I outeomes
: Dark Milk White 3 rzeimmm ' carved ot 400 “ ¢g Use the relatwe probabilty to find the
| 015 035 0.5 Show that dark chocolate, s expected || ivcteaatoneaior freen {0
| 100 selections
|
I
I
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I
I
I
|
|
|
I
|
I
I
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hdependent events

The. roling of ore. diee has no mpact on the
roing of the other The indwidual probatitlies
shoutd be cakulaled separalely

Probability of event 1 X Probability of event 2

@

| Find the probabiity

| of gettng a 5 and
I ared
L

P(5) = =

to be selecled 60 tmes

0.15 x 400 =60

Relatve frequency x Number of times
0.3 x 100 =

e . — — — — — — — — — — — —

|| @!g dm AN Recap Vern dagrams, Sample. space dagrams and Two-woy °l

1]

tables

1

2 5
10

&

B

The possbie outcomes
from tossng a con

The possble cutcomes from roling a dee

Cor | Bus | Wak | Totd
Bos | b 24 4 53
Gk | 6 20 21 47
Totd | 21 44 35 100

1 2 3 4 5 6
Ho| W [2H | 34 | 40 | 54 | 6H
T Aar] 37| 4r| o7 6l

I
|
[
I
I
|
I
I
I
I
I
I
I
I
|



|Bgﬂ)eendofthiswwtgoushwkibeabk’,to:

Odd, Subtract and multiply fractions
Find probabilties using ikely outcomes
Use probabilty that sums to |
Estimate probabiities

Use Vern dagrams and frequency trees

Use sample space. dagrams

Calculate. probabilty for independent everts

Use tree diagrams

Event: one or more. outcomes from an expenment

Outcome: the result of an expernment

Intersection: ekements (parts) that are common to both sets

Universal Set: the set that has al the elements
Systematic: ordering vales or outcomes with a strateay and sequence
Product: the. answer when two or more vakes are multipled together

I
i |
I |
I I
I |
: | Union: the. combination of elements n two sets I
| : Expected Vabe: the vabie/ outcome that g predction would suggest you wil et :
I |
| |
|
| |

_____________ I______.________________._.____._____.._.___I
e ——, — e e e T T 1
| Odd, Subtract and mutiply fractions Q I Lkewss of a probohi‘tu |

Oddition and Sublraclion Multiplcation | | : |

4 2 3 X 2 | | Imposm?k Eve;\ chance Cerlan |

5 3 4 N3 B I Qor07 03,5 or 307 o 100022 :
-ar s shade b

I I ‘ I | — hm:tmﬁm:d 3 .2 o<+ I | The more tkely an event. the furiner up the probabity 1t vill be n companson to |

| 4—X ES = F I arothes event (It wil have & probabity chser to ) |

12 10 _ i " _::_—_::z:.—_::::::zz'::::

| 15 £ J 15 ] SIJm to i I Probabilly 1s abiaus o vale between 0 and | ‘I o :

find a common multiple for

|
|
| Use equudient fractions to
I
[
I

both denominators

Total number of
5 ports in the dagrom

mﬁ;ﬁl II What we expect to happen

I

|

I {

: Expermental | What actualy happens when we
| | probabity try it out
I

|

The probobilty becomes more accurate with more triak.

The possble oulcomes

from tossng a con

I = The. probabiity of getting a blue bal 15 E |

I O «The probabiity of NOT getlng a bive bl is 4; [
| O L ) |
| i |

The sum of the probabilties is |

____________________ -‘I | Elephant

| Sall Qb SPACL Tre. possike autcorres from roling i dce o 1| [Tove
. = ‘

il | .
The more trals that. are | Erequency trees v
way tables can show the
completed the chser I | 60 people vsted the 200 one Satuday momy same nformalion
expermental probobily F'I@ of t”‘ﬁ'" Welf & s E k‘m‘@ i‘”ﬁ
avounte. animal vias an elep 24 0
ard theoretica | | chierts favoute anmalwas an ekphant e lotal cobmrs on to-
probabiity become | vic Labes show the
I Two-way table possbl denomnalors
Theoretizal probabilty s proportional | i oak | ot | Tota Plags) - 28
13 24 37
PIChid wilh favounte,
13 10 23 anmal as eephanl) - 5

|
6 Plwen = 3 | Toldl

26 34 60

1]l 2|3|[a]s Al
berond T
H| M {20 | 3K | 44 | 5H | 6H nw{ak;)m (2 I vern diggrom
T ar|ar|ar|sr|er : P I e P
e _____ T @ T
| Independent events H nel AONDselB el A ORsel B nel A NOT 1 et A
The. outcome of two events happening The P (Aand B) || P@nB P (AU B) P (4) P (A
outeome of the first event has no bearng on the B l_.___:_.________._:.::____.:::__,.:_;:::::::_,
utcome of the offer =P AP B Y

I

Tree dagrom for ndependent evenl

| Dﬁpﬂmﬂt euents [ The outcome of the first event has an impact on the ]

isobel bas a beg with 3 blie connlers and 2 uelow She picks a cownter and replaces 1L before the. second pck : | TrLLt am for second event
even
a8 | s 2l
BesseXbey o regbcedthe seond ok s e sqre proubly | | Orsock drawier has 5 block md 4 while socks, Jamie peks 2 socks from the drawer

|
|
|
I
I
|
} 3oul oUmbLe
|
I
|
|
|
|

3.3_9 7 II Pk Bt 5o

3
5 =PBB) Hki=2
= <

5 >
5,
> :

3.2
=P (BY) *5
=P(YB) Hi==%

Sum of probapilties

vk

<

denominalor 15 ako
reduced for the second

J=rwn 3,(5:2 :
prl

I
|
|
|
5 420 9

ﬁ ’ P (BB ;K T . NOTE a5 ‘socks” are removed I
from the drwier the rumber I

4 5 4_20 of tems 1 thal deger 15 dso
’ B (El P (BW) i redced - the. :
|
|
]

Sum of probabites = |




